
Exercise 
•  Star: HD209458 with transiting planet 
•  Ephemeris (mid-transit):  

HJD(TT) 2453344.768245 + 3.52474859 E 
•  Telescope: William Herschel Telescope (WHT) on La Palma 

–  Note: not the Herschel space telescope 

•  Which night in 2014 is transit best observed? 
•  What is precise UTC of mid-transit? 





observe 
Mid August 

01UT 



•  2014 Aug   1 12:00 UT = JD 2456871.0 
•  2014 Aug 31 12:00 UT = JD 2456901.0 



•  2014 Aug   1 12:00 UT = JD 2456871.0 
•  2014 Aug 31 12:00 UT = JD 2456901.0 
•  Mid-transits 

–  HJD(TT) 2453344.768245 + 3.52474859 E 
–  HJD(UTC) 2453344.768245-0.000766 + 3.52474859 E 
–  HJD(UTC) 2453344.7674790 + 3.52474859 E 

•   E=1000: HJD(UTC) 2456869.5160690 = 2014 July 31 00:23:08.4 UTC 
•   E=1001: HJD(UTC) 2456873.0408176 
•   E=1002: HJD(UTC) 2456876.5655662 = 2014 August 07 01:34:25.2 UTC 
•   E=1003: HJD(UTC) 2456880.0903148 
•   E=1004: HJD(UTC) 2456883.6150634 = 2014 August 14 02:45:41.2 UTC 
•   E=1005: HJD(UTC) 2456887.1398120 
•   E=1006: HJD(UTC) 2456890.6645605 = 2014 August 21 03:56:58.0 UTC 
•   E=1007: HJD(UTC) 2456894.1893091 
•   E=1008: HJD(UTC) 2456897.7140577 = 2014 August 28 05:08:14.8 UTC 
•   E=1009: HJD(UTC) 2456901.2388063 



staralt – July 30/31 



staralt – Aug 6/7 



staralt – Aug 13/14 



Answer 
•  2014 August 07 01:34:25.2 UTC 

•  BUT, this is time at Sun centre (heliocentric) 
•  We really want time as observed  

•  Heliocentric corrections is 396.3s 
•  So uncorrected time is: 

–  2014 August 07 01:27:48.7 UT (night of Aug 6) 
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